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By- Abhinesh sir USE CODE FOR DISCOUNT : Y433 WaXa[sz|l2N
n A dynamometer type wattmeter can be used on
(a) dc only
(b) ac only

(c) rectified ac only

\/(d«] ac as well as dc T’l\éaoua‘wnp °F FDUJPY
> AC+dc¢
E;a - VI Cosd
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n Which of the following instruments is an integrating type

instrument? "*’Tw
(a) Wattmeter
hV ]
Energy Meter

(c) Power Factor Meter (C ent 1_0 {, a.QAnSheP

(d) None of the above
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The scale of power factor meter instrument is
(a) Non Uniform
(b) exponential

u[,efﬁ:lear

(d) all the above
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@ ¥ A dc ammeter has resistance of 0.1 Q and current range is

L

0 - 100 A. If the range is to be extended to 0 - 500 A, then
N— —— - NSO -
Qg W meter requires shunt resistance of

(a)0.0100Q | T=5"

J" (b) 0.011 Q (
Margtn s  \_kJ0.0250 Jn =160 ;?Sd)
g\ (d) 1.0 @ Vs eﬁh: Eis
& = (oW Q’s‘h: O g "l

ol Lhﬁah we, |1°L, T
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n Megger is an instrument to lIlEElSllI‘E

(a) a very low resistance CQ)D

\/ﬂ?)’fnsulatlon resistance — 7 QI\D
(c) Q of coil

(d) inductance of coil
T0<
18] wl»x

g

NN l“'ISIA]qJ-)'m
QCI- (Hiy},) i
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Which instrument has the lowest resistance? "

Ammeter — ge'M;’} ( R s N

A\
(b) Voltmeter— o

2
(c) Megger q ﬁl ) L Ka
(d) Frequency - meter Qq - 0 ( E.;lg_gf ) | p\/

%
o
4

T

Ka = low lﬂ»\/:'jfgh
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The moving coil in a dynamometer wattmeter is
connected

(a) in series with the fixed coil.
(b) across the supply.
(c) In series with the load.

(d) any one of the above.



&2

L_7 Yighlq Z(’S-

L,? —mﬂd r)? _Power Supply
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To increase the range of a voltmeter

n j—e""f’ = Rl ~ (a) a low resistance is connected series.

(b) a low resistance is connected in parallel.

(\c a high resistance is connected in series.
M a high_resistance is connected in parallel.
K e .

eg@ﬂr:é \.Qm: i «M~

g, - 1<%

O—
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.:;JD The controlling torque in gravity controlled meter is
/\' (a) cos O =
>

?ﬁmw‘ (b) sin 6 . - —

(c)tan 6 E -
i @ @ — @ l_‘; G(Slnﬁ)jl
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n Swamping resistance is used to compensate error due to:

(a) Stray magnetic field

(b) Large supply voltage S —?‘ﬂ { H o Coouy
(c) Large supply frequency

_--...‘l‘.....‘-
) Temperature variations ﬂ} ligh =

stq = @_,
Wr C oy — TOUE‘\O @’5’7)
o
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n With the decrease in the strength of the permanent wﬂ/’.ﬂ\h

magnet an insulation Megger due to \_a,gfll\l_g',_the Megger ponitd

reading will

\_/(ﬁ'rbe lower than actual. * mm“( %tm@

(b) be higher than actual.

(c) remain unaffected. G doen Nof N ( @ _! <

(d) ﬂu$nati rap(i:illyl Rrﬁub—eo( cm,a fT—

—_
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A static combination of control coil and cnmpensating_gqil

is used in Megger to minimize the effect of
(a) stray capacitance
(b) surface leakage

l/gystray magnetic field ___~, Xt . N e ¢
( 8

d) aging of magnet
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Match the items given in List - I and those in List - II

(Temperature coefficient of Resistance). Select your

answer using codes given in the lists:

List -1
O{ s O‘m({ (a) Aluminium
_ - (b) Manganin
(c) Carbon
(aJa—-R,b—>Q,c—>P
(b)a—-Q,b—-Pc—R
(cJ)a—-Pb—->Qc—R
(dJa—-R,b->Pc—>Q

List-1I

P. Negligibly small @
Q. Positive (@)
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n The resistance of insulations, in general, with

temperature rise. M
[t
\/(a')' decreases .ﬂe

(b) increases rapidly

(c) Increases slowly

(d) does not change

-
13
~
5
I3
N



By- Abhinesh sir USE CODE FOR DISCOUNT : Y433 WaXa[sz|l2N

Determine the power (in W) delivered by the current

n source to the given electrical circuit. \ D\\/ ‘

ol
%j Ri=20 SA 1 R,=40
I: S—f lci

ot 3

_ 5A
g = X5 (a) 92.5
| % (b) 107.5

(c) 104.2 i_ll P

(d) 93.7
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n SI unit of electrical energy is
(a) Watt - Second

ule
\)(f;fwn O
(d) Volt - Ampere - Second
%\u“q — Umﬁb ngduwr,{—fm
& = PXt
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n Which of the following materials possesses the least
resistivity?
(a) Iron
(b) Manganin
(c) Aluminum

fﬂ Copper



By- Abhinesh sir USE CODE FOR DISCOUNT : Y433 WaXa[s 2|21V
lm Lo

A current of i = 6 + 10sin (100mt) + 20 sin (200 mt) is
flowing through a series combination of a PMMC and

X Fm_m (- an 8 moving iron instrument. Ratio of the two currents as

registered by the M.I. and PMMC meter is M'Ll P L
dc (a)1.81

p ’ﬂr (b) 3.1 , *é‘f’!osl'(mxtl‘l‘.?bSln(waf_,
T = (1 ()2.82 AC
Nl (d) 2.63 dc — »

dc P = : o\
Qeﬁecchuo (¢es) @::51 6 1T &

:JG‘I-fD-[- 200
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An ac meter of resistance R,, and reactance X,, is connected in series
nwith a resistance R;. A shunt of impedance (R, + jX,,;) is applied in
parallel to the existing combination of meter and R,. The current
division across the two branches will be independent of frequency

when @ ] . .
3 :O Meter ™5 X B ‘gr o/ ‘K‘ M ey Ke | S

—, m m s

e T T [ [ndspendtont
Z= R+ 3X . TRt R | . *‘""f’"
KL: Qﬁ}(’L Rsh Xsh | '-F md'(-f T“ C Cf Shiak

i 00— [c a2
et Yo, () e = O
il R JRhoeg, o o :-L_e’(. = Iﬁ"’(

Xm Xsh

(C] R.. — R (d] (RS + Rm)z +X$ﬂ — R.Eh + Xgh R_ﬁ &] ‘
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n Determine the power (in W) of lamp A and lamp B

respectively for the given circuit diagram. PQ'I E__']_ | ©
Lamp A Lamp B 0\
Cors———CaWS— |
e 121 D e’ | C‘1 _
Al -
A [, =21ps
<l 9
(a) 75.56, 33.86 40V
() 76.65,3886 | = Yo _ 9
(c) 70.76, 35.37 — H’T’
(d) 68.62, 38.86 | 5 3
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n Which one of the following statement is TRUE? Qﬁﬂ
(a) Superposition theorem is not applicable for voltage Ji ;

calculation.

(b) Superposition theorem is not applicable for po?/
calculation.

SPT
(c) Superposition theorem is not applicable for bilateral

elements. K+—= (_,l no Y
(d) Superposition theorem is not applicable for passive M

elements. }10 m?’ﬂ‘f -
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n Which one of the following is an active element in a
circuit? ~ |
(a) Capacitor ¥ N 5 Leopedone VP
(b) Resistance
(c) Inductor Il Ho Con oph of omiy
\\)} Current source | |
| #‘Th LW o
——

© 4+ M ®© o

Zzu/w Z:‘;/I
S

W |
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Determine the Thevenin's equivalent resistance (in ohms

across terminals x and y for the given electrical circuit,
8 Q 6 Q2

i

T y 10A .
: |

(a) 1.21 ~—<T—‘\ (;X 8
(b) 2.32 {"
(c) 3.43 u' 0 , W

(d) 4.45
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What will be the voltage (in V) between points ‘A’ and ‘B’
in the given electrical circuit?

e - T (- L.

CE G T o D [ )
(b) 37.32 s
(€) 36.62 " v VER SRS

d .
L NS Y TR
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n The open - circuit voltage across the load is equal to 45 V.
Calculate the load voltage (in V) when the maximum

power is transferred to the circuit.
(a) 11.25

2 e““ NPT
Q/g)]ZS.S \‘ ﬂ\f,\g{ e
\)’rh 1 QL QL = Nh

& I R

=T 'k
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n Find the value of current (\i};‘q) across a 3 Ohm resistance

. [, 70 e I; 6 Q D _J:k: VX
1 1, =1, 3
- 3 0 — 45V -
35V T - =
(a) 5.5 L 3
(b) 7.3 A > E
(c) 6.5 Modo V1"3?+\./_{+ .
(183 " s e
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n Find the Thevenin’s equivalent resistance (in ohms)

- a
across the load terminals A - B —

1Q 4Q 5Q

(a) 10
) 15—
(c) 20
(d) 25 -
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Determine the percentage (in %) of maximum powel

delivered to the load resistance, when R; = 3Rypy,.

i QL :‘_I,QM QL: 3Q*m

(b) 65

| 2
P:\_/_ff;(%

e —
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USE CODE FOR DISCOUNT : Y433 Wa\a[s 1K1V
For the circuit shown below, find the current (in A)

produced by the 50 V battery
50V

1

v
o
SO

() 10 (b)20.
(c) 30 (d) 40

Q;l =d-TA
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n Which of the following circuits can be used as series to
e

parallel converter?

\/[z)’ﬁ;multiplexer

(b) encoderD

(c) decoder

(d) multiplexer

e C
e
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n For all possible input combinations, the exact reverse

output of AND gate can be obtained by gate
(a)EX-OR ; A

/QbﬁAND : l )_ JF
(c) NOR

(d) NOT % o ANO qw
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at’1s the output (X, y) of the multiplexer resulting fom
the input logical values? @ =

1e v, e
(g _; MUX ._6:) 'la [+oto+
1 13

(b) XOR gate

(Jl':l_ | 'Md_ |
\/@NORgate J {Zi_

L R

)

y
(c) NOR gate a
(d) AND gate
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The resolution of a 10 - bit D/A converter is given by
\..-""'"-—-"'"" -

TI:B Re(. — ,

s { - 3
(®) 1oz2 n Rep =
(c) 1023 - — | 102y -
(d) 1024 P [V o, [l =
- 0 - ‘"‘F — —
5 | | | 623
KCS - | o -
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The number of unused states in a 3 — bit Johnson counter
sed states
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0

The initial contents of the 4 - bit series - in - parallel out,

right shift, shift register_as shown -in-figure-below are

1010 after 3 clock pulses the contents of the contents of

X >

- Clock ( O ( O
(1]0J1]0 /’) 1 | 0\___‘__‘_1,

(a) 1117 Serilein ( = 18

" (b)1101 ] o 3 1 )y ) .

Ex-0R
(c) 1110 .

e
(d) 1010 lA@+A—6 7@, :_]Q _&: *sz
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The figure of merit of a logic family is given by
(a) fan out x propagation delay time
(b) Noise margin x power dissipation

(c) Propagation delay time x power dissipation

| &T ¢ M (d) gain x bandwidth

| oo ¢ fams)
S Bl Jom= by xRy TKB

s\

/
Ton o (o = louq @ Opl%

-__--"""-—-———'
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n é‘yc In N-P-N transistor, emitter current is
(a) Slightly less than collector current
—~ :
sy PB‘U;‘L/ \/(’ﬁ] Slightly more than collector current
(c) equal to collector current :
(d) qual to base current c | I; — CQ“"' nolo
I |
o —_ o [LMmeS
J | _ on’
. 6 o
1 7 a
n® I G; E = (Nmn

) I Bert | B = Contas|.
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Consider the following statement g 0
)

n A clamper circuit

Uorv?f 7 CK - 1. Amplifies the waveform r
A, A m subtracts a dc voltage to or from a wave form

\,0 st ¥ \,6/ Does not change the shape of the waveform which of
" the statements given above are correct?
° |l (a) 1 and 2 | \)I'(t) 4 _H
C =
\)‘. O Vu 72 and 3 ol = p@' Den VpZo
4 (c)1and 3 C- Starh
- =

((il] 1,2 and 3 ('hoa“l % \US0
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n The voltage transfer characteristic as shown in the figure will

relate to a \
Vo. \

1. Full wave rectifier %~ I

2. Half wave rectifier P
L/?.(Vultage regulator

Which of the above is/are correct?

(a) 1 and 2 (b) only 1

(c) only 2 (d) only 3 1

_—
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Which transistor configuration is most suitable for
impedance matching.

(a) CE configuration % @m MmN Cﬂl | U~
(b) CB configuration

- W
\M CC configuration V 7

(d) CE and CB both

\J, ¢ \J,
- Im?f_gtgw mohﬁ‘) - -

O mpT
ZL:ZS'
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A rectifier which has ripple factor of 0.482 and power
conversion efficiency equal to 81.2%. the rectifier is

- - TUf= 029
1. full wave (non-bridge) rectifier YW@
2. Half wave rectifier ) < LY
3. bridge rectifier R P’ Vl wd o
Which of these are correct? g

@ 1andz | g = [v21 4o— -0 m
(b) only 2 . Fwe

i
(c) only 1 F(Dﬂ< -0OUy Qo2 ‘ h

\/0 (d) 2 and 3 fooh

@wa
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In an ideal operational amplifier depicted in fig. the

. : . . 05 potential at node A is:
g+l

(b) 0.5V
(c)10V
(d) can-not be determined. -K ];. -0 ° _ N
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n For the network shown in the following figure the value of
V, which makes I, = 7.5 mA is:

80 4 ()

Vs(® 64}

120 4o

AATAY —
(a) 725 mV -

AT - s

() 680 mV V = GOHJr‘_lmv RE TR
(c) 695 mV 5:,0( IV, = | £KY = 6o
) 705 mv e
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In a fullwave rectifier, the load resistance & = 2 kQ. Each

- diode has idealized characteristics having slope
corresponding of 400 (). Voltage applied to each diode is

R
240 sin 50 t. V. Average value of load current will be

e S

(a) 82.00 mA
) 7072ma | Slope=Viz = Moo =Ky

(c) 63.84 mA V- | €8 3u.
(d) 100.00 mA Vo = 2\901) \ ) v
|

— ax% X 5=
3
U’o: XX QYo ? {60
A
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A + AB + A BC + A BC D simplifies to:
(a)A+B

(b) 7 + B

(c)A.B

S
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For a series Si diode configuration shown below the

current I is:

a) 3.32 mA

(b) 3.95 mA
(c) 3.63 mA
(d) 3.64 mA




By- Abhinesh sir USE CODE FOR DISCOUNT : Y433 Adda\E'-I

A TRIAC is:
\}a*] bilateral device
(b) two terminal device cC (0

(c) unilateral device v O
(d) four terminal device

MT t (gractol |4
o |® Fz ol




By- Abhinesh sir USE CODE FOR DISCOUNT : Y433 WaXa[sz|l2N

n The current gain of a Darlington pair in common emitter

configuration is approximately: C C
(a] 1+ﬁ

s
)

(25

9+
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In junction field effect transistor, the drain current can be

n approximated as: ] 0

@) Ios = py* (1 =) ;
(b) Ips = Ipss (1 —L;,_'f) . "

4 y B

2 @5
Tor
g "\,

2 |
- ( _ Vﬂs) | .
DS — TDSS
Vp |

B

v
(c) Ips = IDSS( 5 —VGS)
P
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A PMMC meter has an internal resistance 200 Q and the
current required for its full scale deflection is 50 uA. The

meter is capable of measuring on its own a maximum

voltage of:
(a) 10 uV
(b) 5 mV U)M - I«\Qm
mmv LI
(d) 5pV — SLY)|O X 260
§ ?m\p[{£
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n The voltage gain in a common emitter configuration is:

hfeR
@) =2 \ [+ 837
(b) —hfe !
thRL Smw S ¥ m

() - Aoty <
(d) hie + (1 + hfe)R, /\
[\

=Voshebk|  Lwofg
v, g | =3 LT Mede) — A AT

_JT-
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n In a voltage series feedback amplifier, if R, is the input g\(}'

resistance without feedback. then input resistance with
feedback is: @"QT C:a;ﬂ J,

Ri
(a) Rir = 1+Avf

(b) Rif = R; (1 — Avf)

\_LQ}RE}':RE (1+ Avp) &’D_} A_ Open (oW~

(d) Rif = R; -
- ?—E—BFQHW F = Nb%
X l‘“'me x Kup = e"/'*ﬂ'P
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The induced emfin a coil is given as:




Adda247)

An equivalent single current source between ‘A’ and ‘B’ in

n the following figure will be: [ B 0 & .
Lo j
)’ ® ~5V
1A 1 P
()
NO 10 10V | ‘
(a) 1A,5 Q) ) 10 Q *\
(b) 2A,5 Q) s @ 1 -+
O],

(c) 1A,10 O (B) 5V ‘
Um,mu 7(-10410_7_ - 3 o
=
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n The gain of an RC - Coupled amplifier decreases at high
frequencies due to:
Jg«)/ﬁlter - electrode capacitance and shunt capacitance
(b) Coupling capacitors

(c) Emitter by pass capacitors G(M h J ‘E‘—t 1 %--%‘s- (;n le ¥

(d) Out capacitance of signal so Th
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n Consider the following statements regarding the
formation of P-N junctions:

A. Holes diffuse across the junction fro\np}side to N-side.

2. The depletion layer is wiped out. ?c:‘»' |

3. There is a continuous flow of current *~
_A4. A barrier potential is set up across the junction.

]

r

(—>

Which of the above statement are correct?
(a) 1and 3
(b) 2 and 3

\-y?flandﬁlr

(d) 2 and 4
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n The magnitude of the gai the inverting op-amp circuit

shown in the figure is x with switch S open. When switch S is

closed, the magnitude of the gain will be

@ NS 'LQQH /))V:'E_Z_

R Y R)

/

——” | P K2
o/ f/L




figure?
1kQ _ 15kQ Va 15kQ
Vio———& — —
T

) il V,
(a) 255 © | Vi 4 0-Vy
(b) 31 = - ~o
(c) -3 | | ¢
(d) -255 \Jt = Vg

By- Abhinesh sir USE CODE FOR DISCOUNT : Y433 WaXa[sz|l2N

n What is the gain of the amplifier circuit as shown in the

|

SRR ) |
\/‘;L"“ 3 AI

\J2-0 4 V= {Va-Vo

Ilt

| i
rt oy

=0

“'l_-.,—-—

\ Ny

Y o SJEN
\/l
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n The Kirchhoff's current law works on the principle of

conservation of =" — "_Z'"w
1. charge/ 2 1l f -

2. energy e o &

3. power )y ""E

Which of the above i1s/are correct?

(c) 3 only
(d)1,2and 3
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n A waveform shown in the figure is applied to a resistor of

20 Q. The power dissipated in the resistor is

] e f
vl Vi

(a) 100 W .

(b) 600 W
(c) 900 W

(d) none

2y

P=1/ 0

EEEETE——

e T T
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n For what minimum value of propagation delay in each

flip-flop will a 10-bit ripple counter skip a count, when it
is clocked at 10 MHz?

(a) 5ns

(b) 10 ns “E ps _L
(c) 20 ns A -
(d) 40 ns
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n In a master-slave JK flip - flop

(a) both master and slave are positive - edge-triggered

(b) both master and slave are negative - edge-triggered

\-)g)«master is positive - edge - triggered and slave is
negative - edge - triggered
(d) master is negative - edge - triggered and slave is

X M-s -fIf
X Qau ﬂ'gouref ® Ly 1

(orsl. I=]

< z)

positive - edge - triggered
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n When a transmission line section is first short - circuited,
and then open - circuited, it shows input impedances of
25 Q and 100 Q, respectively. The characteristic

o S S

impedance of the transmission line is
(a) 25 Q

(b) 50 Q Zc: \[ZK X LB

(c) 75 O )
B kgs’ el o

(d) 100 Q
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